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Copy and complete each problem below. Set your working out clearly as you have been shown.
Give the remainder as a whole number.

[1] 761 + 12 = [2] 856 + 3 = 3] 917 + 4 =
[4] 755+ 9 = [5] 812 + 4 = [6] 921 + 3 =
[7] 795 + 8 = [8] 857 + 4 = [9] 967 + 4 =
[10] 946 + 4 = [11] 1056 + 3 = [12] 1088 + 3 =
[13] 372 + 12 = [14] 491 + 3 = [15] 528 + 6 =
[16] 381 + 9 = [17] 506 + 6 = [18] 623 + 6 =



ANSWERS

Division
Copy and complete each problem below. Set your working out clearly as you have been shown.
Give the remainder as a whole number.

[1] 761

[4] 755

[71 795

[10] 946

[13] 372

[16] 381

12 =

12 =

63 r5

83 r8

99 r3

236 r2

31 r0

42 r3

[2]

[5]

(8]

[11]

[14]

[17]

856 + 3 =
812 + 4 =
857 + 4 =
1056 + 3
491 + 3 =
506 + 6 =

285 r1

203 r0

214 r1

352 r0

163 r2

84 r2

[3] 917 + 4 =
[6] 921 + 3 =
[9] 967 + 4 =
[12] 1088 + 3
[15] 528 + 6 =
[18] 623 + 6 =

229 r1

307 r0

241 r3

362 r2

88 r0

103 r5



